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Name: ___________________________________________  Date: ___________________

Grade 7 

Summer Math

Please use white lined paper for your work. Please copy the original problem on your paper. Show all work if the questions ask you to do so, and then box in your answers. If you are asked to choose the letter of the correct answer, please make your letters clearly on the white paper.  Please take the time to write your numbers or letters neatly on the lines of your paper. YOU MUST SUBMIT YOUR WORK ON THE FIRST DAY OF SCHOOL or you will receive NO CREDIT! Make sure that your name appears on your paperwork!
Find the quotient. Use decimals – not remainders!  Show your work.
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3.
Use the formula [image: image3.png]P=2f+ 2w



 to find the perimeter of the rectangle.
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Write the decimal in words. Identify the choice that best completes the statement or answers the question.

4.
0.906

	A.
	nine hundred and six thousandths

	B.
	nine hundred six ten-thousandths

	C.
	nine hundred and six ten-thousandths

	D.
	nine hundred six thousandths


Use >, =, or < to complete the statement.

5.
0.62 [image: image5.emf] 0.16


6.
7.40 [image: image6.emf] 7.4


7.
Estimate 7.234 + 3.9 + 6.56. Write vertically and show estimates.

8.
Which bar graph properly displays the number of participants in the school clubs listed in the table below?
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Evaluate the expression. Show all the steps in your work.

9.
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Write an expression to describe the relationship (the rule) of the data in the table.

10.


	n
	[image: image13.emf]

	2
	8

	3
	12

	4
	16

	5
	20


Solve the equation. Show the steps!

11.
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12. Davey read 58 pages on Saturday and p pages on Sunday. Which expression shows the total number of 
pages he read on these two days? 
Identify the choice that best completes the statement or answers the question.
[image: image15.png]LU




	A.
	58p
	B.
	58 ÷ p
	C.
	58 – p
	D.
	58 + p


13. Use factor trees to find the GCF of 52 and 78.
 Identify the choice that best completes the statement or answers  the question.
	A.
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	C.
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	B.
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14.
Which fractions are equivalent to [image: image28.png]


? Use the ‘little numbers’ to show your work!

	A.
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	B.
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	D.
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Write the improper fraction as a mixed number in simplest form.

15.
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Find the product. Show your work and simplify your answer.

16.
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Solve the equation. Show the steps!
17.   [image: image35.png]6x + 7





18.  [image: image37.png]


 = - 5

19.   -3x = 57

20.
Evaluate [image: image38.png]


 for [image: image39.png]


. Show the steps in your work.
	A.
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	B.
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	C.
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21.
The American flag is customarily made with its width and length in the ratio of 10 to 19. Which of the 

                    following dimensions is in the correct ratio for the flag? Identify the choice that best completes the statement 

                   or answers the question.
	A.
	107 by 193 in.
	B.
	100 by 190 in.
	C.
	107 by 190 in.
	D.
	100 by 193 ft.



22.
There were 10 students on a field trip. While outside, 20% of the students wore jackets. How many students wore jackets? Show the steps in your work.
The circle graph below shows the number of hours per week a college student spends studying each subject of a college core curriculum.
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23.
About what percent of these hours is spent on art and math combined? Show your work! This is estimation!

	A.
	about 45%
	B.
	about 50%
	C.
	about 20%
	D.
	about 25%



24.
Name the angle that is supplementary to [image: image45.png]L FOD



.

                   Identify the choice that best completes the statement or answers the question.
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25.
Name a pair of vertical angles. Identify the choice that best completes the statement or answers the question.
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	B.
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26.
Name the triangle by its angles and its sides.

 

Identify the choice that best completes the statement or answers the question.
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	A.
	isosceles, acute
	C.
	isosceles, obtuse

	B.
	scalene, acute
	D.
	scalene, obtuse



27.
How many of these triangles appear to be congruent?
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	A.
	2
	B.
	4
	C.
	3
	D.
	5


Compare. Use <, =, or >.

28.
11[image: image66.emf]–7


29.
A deep-sea diver must descend and ascend in short steps to equalize pressure on his body. If the diver rises toward the surface too fast, he may suffer from a physical condition called “the bends.” Suppose the diver started at 82 feet below the surface and rose in five steps of 15 feet each. Use an integer to describe his new position in relation to the water surface.



Show your work and identify the choice that best completes the statement or answers the question.
	A.
	–75 feet
	B.
	7 feet
	C.
	75 feet
	D.
	–7 feet


Short Answer. Choose 2. Show your work!
Use the data from the table to complete the histogram.

30.


	Number of Days of Rainfall

	Rainfall (cm)
	Tally
	Frequency (fraction)

	0.0–0.5
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	0.6–1.1
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	1.2–1.7
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	1.8 +
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31.
This table shows the temperatures at 9:00 A.M. each day for 5 days during one week of December in Omberton. Make a line graph in the grid provided of the data in the table. Remember to label your graph.
	Day
	Temperature ([image: image81.png]oF



)

	Mon
	24

	Tue
	28

	Wed
	27

	Thu
	16

	Fri
	26



32.
At the Last Chance Filling Station, gas costs $1.60 a gallon. Trevor paid $32.00 to fill his tank. How many gallons of gas did he buy?

33.
On a chilly spring morning, the temperature rose 5.9C from sunrise to 10 A.M. At 10 A.M. the temperature was 9.3C. What was the temperature at sunrise?

34.
Is 83 prime or composite? Explain.

35.
Tony and his three brothers and sisters chipped in to buy their parents a gift. If the gift cost $40, could they each have contributed the same amount to the gift? Explain.

36.
Make a separate table and then graph on the grid provided the function y = 2x + 1
                       Use these x-values –2, –1, 0, 1, 2.


Essay – choose 1

37.


	a.
	Describe the process, then find the mean of the data set.

	
	6, 8, 18, 12, 10, 2, 5, 19



38.
Mr. Banks plans to put hedges around three sides of his parking lot as shown below. 

[image: image82.emf]Main Street
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a. Find the total length of the 3 sides.

b. If hedging can be ordered only in three-foot sections, how many feet must he order?

Explain.

39.
Listed below is the percent of sixth grade students who chose each kind of juice at lunch time. Use this information to make a circle graph. Estimate the sizes of the sections of the graph.
	Grape Juice
	8

	Orange Juice
	6

	Fruit Punch
	6

	Apple Juice
	20


